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MO2 Types of Outputs in the Industrial

Property Rights

TEST

Question 1: What can be broadly described as intellectual
property?

<Pick one correct answer>

A.

Set of tangible assets owned and legally protected by natural person or legal person from
outside use or implementation without consent.

Set of intangible assets owned and legally protected by natural person or legal person from
outside use or implementation without consent.

Set of intangible assets owned and legally protected only by legal person from outside use or
implementation without consent.

Question 2: What does not form part of industrial property?

<Pick one correct answer>

A.
B.
C.

Patent.
Industrial Design.
Copyright.

Question 3: What are the criteria of patentability?

<Pick one correct answer>

A.

Patents shall be granted to any inventions, in all fields of technology, provided that they are
new or original.

Patents shall be granted to any inventions, in all fields of technology, provided that they are
new, involve an inventive step and are susceptible of industrial application.

Patents shall be granted to any inventions, only in the field of engineering, provided that they
involve an inventive step and are susceptible of industrial application.
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Question 4: What is the standard term of protection of a
patent?

<Pick one correct answer>

A. Twenty years counted from the filing date.
B. Ten years counted from the filing date, with possibilities of endless renewal.
C. Twenty years counted from the date of grant.

Question 5: What is the period, in which a right of priority
for a patent application can be claimed?

<Pick one correct answer>

A. Twelve months from the date of publication of the first patent application.
B. Six months from the date of filing of the first patent application.
C. Twelve months from the date of filing of the first patent application.

Question 6: What can be protected by industrial design?

<Pick one correct answer>

A. Any industrial or handicraft item that qualifies as a product, provided that it is new or original.

B. Anyindustrial or handicraft item dictated essentially by technical or functional considerations.

C. Any industrial or handicraft item that qualifies as a product, provided that it is new or original,
even if it promotes violence.

Question 7: Which of the following statement is true about
trademark?

<Pick one correct answer>

A. Atrademark does not have to be distinctive, as long as it is not descriptive.

B. A trademark is any sign, or any combination of signs, capable of distinguishing the goods or
services of one undertaking from those of other undertakings.

C. Atrademark can be under normal circumstances enforced even in the territory, where it is not
registered.
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Question 8: Which of the following statement is true about
trade secret?

<Pick one correct answer>

A. Trade secret is an optimal form of protection for all types of innovations.

B. For atrade secret to be legally protected, it is sufficient that it is not publicly known.

C. Trade secrets are protected without registration and can be protected for an unlimited period
of time.

Question 9: What organization does administer the Patent
Cooperation Treaty, under which an international patent
application can be filed?

<Pick one correct answer>

A. World Intellectual Property Organization.
B. World Trade Organization.
C. European Patent Office.

Question 10: Under which international intellectual
property protection system can industrial design be
protected?

<Pick one correct answer>

A. The Madrid System and Madrid Protocol.
B. The Lisbon System.
C. The Hague System.
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Testing Set - Evaluation/Grading Criteria

Participant’s successful completion of the module shall be evaluated by test consisting of 10 questions.
Each question shall be provided with three readily available options, whereby participant shall pick
one correct answer.

Participant needs to successfully answer at least 6 out of 10 questions.

Correct Answers

Question 1

Correct answer: B.

Question 2

Correct answer: C.

Question 3

Correct answer: B.

Question 4

Correct answer: A.

Question 5

Correct answer: C.

Question 6

Correct answer: A.

Question 7

Correct answer: B.

Question 8

Correct answer: C.

Question 9

Correct answer: A.
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Question 10

Correct answer: C.
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